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B Adding and subtracting fractions

* When we add or subtract fractions, we count how many we have of a certain ‘type’ of fraction.

For example, we could count cighths: 3 eighths plus S eighths minus 1 eighth equals 7 eighths.
When we count *how many’ eighhs, the answer must be in eighths.
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* Denominators must be the same before you can proceed with adding or subtracting fractions.
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* If the denominators are different, use the lowest common multiple (LCM) of the denominators
to find equivalent fractions.
 When the denominators are the same, simply add or subtract the numerators as required. The
denominator remains the same.
In this example we are counting sixths: 3 sixths plus 4 sixths equals 7 sixths.
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a  Which two operations require the denominators to be the same before proceeding?
b Which two operations do not require the denominators to be the same before proceeding?

a For which two operations must you first convert mixed numerals to improper fractions?
b For which two operations can you choose whether or not to convert mixed numerals to
improper fractions before proceeding?

State the LCD for the following pairs of fractions.

1,3 2.5 1,7 5,13
a -+ b Z+2 C —+— d —+=
5 * 4 9 * 3 25 * 10 12 *
State the missing numbers in the empty boxes.
2 2,1 y 1.9 o 14,3 3.2
3 4 8 16 75 7 3
LN Lo L 53
212 1616 7 5 7 2
_ 1 _ _ _ 15
16 35 14
State the reciprocal of the following fractions.
a2 b3 ¢ 31 d 1L

8 2 4 11





